

$$R = \frac{\left[1 + \left(\frac{dy}{dx}\right)^2\right]^{3/2}}{d^2y/dx^2}$$

$$R = \frac{\left[1 + (\tan t)^2\right]^{3/2}}{\sec^2 t} = (1 + \tan^2 t)^{3/2} \times \frac{t \cos t}{\sec^4 t}$$

$$R = (\sec^2 t)^{3/2} \times \frac{t \cos t}{\sec^4 t}$$

$$R = \sec^3 t \times \frac{t \cos t}{\sec^4 t}$$

$$R = \sec t \times t \cos t$$

$$R = \frac{1}{\cos t} \times t \cos t$$

$$\therefore R = \underline{\underline{t}}$$

ii) $h = x - R \sin t$
 $k = y + R \cos t$

$$\therefore h = \cos t + t \sin t - t \sin t$$

$$h = \cos t$$

$$k = \sin t - t \cos t + t \cos t$$

$$k = \sin t$$

\therefore The coordinates for the radius of curvature are $(\cos t, \sin t)$

Name: Adebayo Tembolun Emmanuel
 Matrix no: 16/ENGG051001
 Course Code: ENGR 281
 Department: Mechatronics
 College: Engineering
 Course title: Engineering Maths

Assignment 2 Solution

1) i) $x = \cos t + t \sin t$
 $y = \sin t - t \cos t$

$$\therefore R = \left[1 + \left(\frac{dy}{dx} \right)^2 \right]^{3/2}$$

$$\frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx}$$

$$\frac{dx}{dt} = -\sin t + t \cos t + \sin t \quad (1)$$

$$\frac{dx}{dt} = t \cos t \quad \therefore \frac{dt}{dx} = \frac{1}{t \cos t}$$

$$\frac{dy}{dt} = \cos t - (-t \sin t + \cos t) = \cos t + t \sin t - \cos t$$

$$\therefore \frac{dy}{dt} = t \sin t$$

$$\therefore \frac{dy}{dx} = t \sin t \times \frac{1}{t \cos t} = \tan t$$

$$\frac{dy}{dx} = \tan t$$

$$\therefore \frac{d^2y}{dx^2} = \sec^2 t \times \frac{dt}{dx} = \sec^2 t \times \frac{1}{t \cos t}$$

$$\therefore \frac{d^2y}{dx^2} = \frac{\sec^2 t}{t \cos t}$$